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6.1 (a) ByEqn. (6.2-3)
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However, we adlso have U = H- PV; dU =dH- PdV - VdP, and, by Eqgn.
(6.2-3)
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Equating (1) and (2) showsthat G, = [—j . Next we start from
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A= A(T,V,N)
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However, we also havethat A=U - TS ;
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dA=dU- TdS- SdT = TdS - PdV+@ GdN, - TdS- SdT
or
dA=-SdT- PdV+@ GdN, )

Comparing (3) and (4) yields
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